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elr SAIZZ 2 SAIZelHE A (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
A= 2 1,869,412 1,653,175 216,237
= 300,000 300,000 0
Al 1,569,412 1,353,175 216,237
SADHE 1,710,545 1,530,545 180,000
S 300,000 300,000 0
Al 1,410,545 1,230,545 180,000
SAE2 & EAZEIAE THEYI 1,671,503 1,491,503 180,000
(= 300,000 300,000 0
Al 1,371,503 1,191,503 180,000
SAIZelH= =8 867,683 767,683 100,000
401 AIEHIZL 2 0HY| 800,000 700,000 100,000
01 Al&HI 800,000 700,000 100,000
O=d d&2e|HE =8 89
100,000, 000& x124 100,000 0 100,000
=UHE CIAe & Z2ads 29 203,820 123,820 80,000
401 AIEHIZL R OHYI 130,000 50,000 80,000
01 AlZHI 130,000 50,000 80,000
OSd o3& Aldg8 sXael
2 & 130,000,000 130,000 50,000 80,000
MHRES(SAIHE D) 36,237 0 36,237
BEXE 36,237 0 36,237
SBEXE 36,237 0 36,237
802 Btet=JIE 36,237 0 36,237
01 =12 x=ttet= 25,631 0 25,631
OSUeZHHEX Y g &4 2 Ok
25,631,000 25,631 0 25,631
02 Al - EHIE=SEtet= 10,606 0 10,606
020223 AR2XGANLMS(=EA H2S
=3t HUIAIY) & & o Of Xt
2,347,000 2,347 0 2,347
202 ARDXSNL AR (EFA ZAS
WS HatAlY) T8 & & Okt
810,000 810 0 810
O2023H 2AZ XL X Aot eHAB 2T LAY (
SASHAINSHZAZTLHAIY) T TH 2
OIKt 1,529,000& 1,529 0 1,529
ONRHAZESEAUSI AL (THSHRI2 M AL
ESIAN==2EY) & & X Ok
847,000 847 0 847
O2Ezed 2SI A (=8 A &
22 Xxd) I8 TN 2 Okt
2,849,000 2,849 0 2,849
Q023 AN LK A EHB2ATH ALY
HECASKENSIANLAIY) e TN
2 OlXt 2,224,000 2,224 0 2,224




